PROJECT: LA PRADA DRIVE MCIP 20210B BID NO: 2013-063-6380 LIMITS: MILLMAR DRIVE TO MOTLEY DRIVE DATE: 9/26/2013

DESCR: 0.25 mi street reconst. & storm sewer (Dallas); 0.25 mi. storm sewer (Mesquite)

					n Group vest Bid	Tiseo Paving 2nd Lowest Bid		CD Build	
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
	PAVING (CITY OF DALLAS) (BASE BID)								
100-2002	PREPARING ROW (INCLUDING TREE TRIMMING, TREE & FENCE REMOVAL)	STA	12	\$1,400.00	\$16,800.00	\$7,040.00	\$84,480.00	\$1,107.84	\$13,294.08
100	PREPARING ROW (TREE) (VARIABLE DIA)	EA	5	\$306.04	\$1,530.20	\$500.00	\$2,500.00	\$664.70	\$3,323.50
104-2001	REMOVING CONCRETE (PAVEMENT INCLUDING ASPHALT OVERLAY)	SY	7,750	\$4.50		\$6.60	\$51,150.00	\$16.61	\$128,727.50
104-2022	REMOVING CONCRETE (CURB AND GUTTER)	LF	3,296	\$2.50	\$8,240.00	\$2.40	\$7,910.40	\$4.86	\$16,018.56
104-2015	REMOVE CONCRETE (SIDEWALKS)	SY	884	\$3.00		\$4.05	\$3,580.20	\$4.82	\$4,260.88
104	SAW CUT (FULL DEPTH)	LF	742	\$0.60	\$445.20	\$3.00	\$2,226.00	\$2.14	\$1,587.88
104-2017	REMOVE CONCRETE (DRIVEWAYS/ALLEYS)	SY	410	\$6.00		\$6.40	\$2,624.00	\$7.11	\$2,915.10
105	REMOVE ASPHALT PAVEMENT	SY	200	\$7.00		\$4.80	\$960.00	\$14.72	\$2,944.00
110-2001	EXCAVATION (RDWY)	CY	3,553	\$10.00	\$35,530.00	\$13.80	\$49,031.40	\$8.72	\$30,982.16
132-2002	EMBANKMENT (FINAL) (DENS CONT) (TY A)	CY	340	\$12.00		\$8.80	\$2,992.00	\$32.20	\$10,948.00
160-2003	FURNISHING AND PLACING TOPSOIL (4")	SY	3,150	\$4.00	\$12,600.00	\$3.25	\$10,237.50	\$3.90	\$12,285.00
162-2002	BLOCK SODDING	SY	3,150	\$6.00		\$3.65		\$2.89	\$9,103.50
170	IRRIGATION SYSTEM (CONTINGENCY)	N/A	1	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
247-2062	FLEX BASE (TY A)(GR 2)(IN FINAL POS) (6")	SY	323	\$12.00	,	\$15.00	\$4,845.00	\$7.61	\$2,458.03
260-2027	LIME TREATMENT (EXISTING MATERIAL) (8" THICK) (D.C.)	SY	9,465	\$2.00	\$18,930.00	\$3.95	\$37,386.75	\$8.65	\$81,872.25
260-2002	LIME (HYDRATED LIME)(SLURRY)	TON	270	\$160.00		\$197.00		\$146.06	\$39,436.20
340-2011	D-GR HMA (METH) TY-B PG64-22 (4" & 6")	TON	92	\$170.00		\$150.00		\$205.20	\$18,878.40
340-2102	D-GR HMA (METH) TY-D PG64-22 (2")	TON	50	\$280.00	\$14,000.00	\$175.00	\$8,750.00	\$333.99	\$16,699.50
360	CONCRETE PAVEMENT (STREET HEADER)	LF	290	\$12.00	\$3,480.00	\$10.00	\$2,900.00	\$12.36	\$3,584.40
360-2022	CONCRETE PAVEMENT (9")	SY	9,185	\$43.00	\$394,955.00	\$44.95	\$412,865.75	\$40.90	\$375,666.50
416-2002	STREET LIGHT FOUNDATION (24") (ONCOR STD 213-320)	LF	40	\$95.00	\$3,800.00	\$210.00	\$8,400.00	\$207.10	\$8,284.00
423	SIDEWALK CURB (CITY OF DALLAS ITEM 320)	LF	550	\$4.50	\$2,475.00	\$16.50	\$9,075.00	\$3.73	\$2,051.50
496-2293	REMOVE STRUCTURE (SIDEWALK CURB)	LF	45	\$8.00	\$360.00	\$11.00	\$495.00	\$27.25	\$1,226.25
500	MOBILIZATION	LS	1	\$174,000.00		\$64,000.00	\$64,000.00	\$327,000.00	\$327,000.00
502	BARRICADES, SIGNS, AND TRAFFIC HANDLING	MO	12	\$2,600.00		\$7,834.00	\$94,008.00	\$1,613.20	\$19,358.40
504	FIELD OFFICE	MO	12	\$1,300.00	\$15,600.00	\$8,800.00	\$105,600.00	\$1,603.20	\$19,238.40
506-2034	TEMP SEDIMENT CNTRL FENCE (INSTALL)	LF	2,400	\$1.50	* - ,	\$1.65	\$3,960.00	\$1.42	\$3,408.00
506-2040	TEMP SEDIMENT CNTRL FENCE (REMOVE)	LF	2,400	\$0.40	\$960.00	\$0.11	\$264.00	\$1.42	\$3,408.00
506-2041	CURB INLET PROTECTION (INSTALL & MAINT)	EA	15	\$71.00	\$1,065.00	\$83.00	\$1,245.00	\$65.40	\$981.00
506-2059	CURB INLET PROTECTION (REMOVE)	EA	15	\$7.00	\$105.00	\$11.00	\$165.00	\$6.54	\$98.10
506-2016	CONSTRUCTION EXIT (INSTALL)	EA	2	\$1,180.00	\$2,360.00	\$1,400.00	\$2,800.00	\$1,090.00	\$2,180.00
506-2019	CONSTRUCTION EXIT (REMOVE)	EA	2	\$770.00	\$1,540.00	\$610.00	\$1,220.00	\$708.50	\$1,417.00
508-2002	CONSTRUCTION DETOUR	SY	3,000	\$43.00	\$129,000.00	\$51.00	\$153,000.00	\$31.45	\$94,350.00
512-2008	PORT CTB (FUR & INST) (LOW PRPF) (TY 1)	LF	500	\$42.00	\$21,000.00	\$27.50	\$13,750.00	\$65.06	\$32,530.00
512-2026	PORT CTB (MOVE & RESET) (LOW PRPF) (TY 1)	LF	500	\$4.50	\$2,250.00	\$4.50	\$2,250.00	\$4.02	\$2,010.00
512-2044	PORT CTB (REMOVE) (LOW PRPF) (TY 1)	LF	500	\$13.00	\$6,500.00	\$6.60	\$3,300.00	\$7.07	\$3,535.00
529-2023	MONOLITHIC CURB (6")	LF	4,525	\$3.00		\$5.00	\$22,625.00	\$2.37	\$10,724.25
530-2010	DRIVEWAY (CONC)(6")	SY	325	\$47.00	\$15,275.00	\$46.00	\$14,950.00	\$40.92	\$13,299.00
530	ALLEY (CONCRETE) (6")	SY	170	\$44.00	\$7,480.00	\$46.00	\$7,820.00	\$49.52	\$8,418.40
531-2015	CONC. SIDEWALK (4") (4' WIDE) (REINF)	SY	920	\$29.00	\$26,680.00	\$38.00	\$34,960.00	\$35.81	\$32,945.20
531-2014	BARRIER FREE RAMPS (TYP 22)	EA	1	\$1,900.00	\$1,900.00	\$865.00	\$865.00	\$654.00	\$654.00
531-2017	BARRIER FREE RAMPS (TYP 21)	EA	1	\$650.00	\$650.00	\$865.00	\$865.00	\$654.00	\$654.00
531-2005	BARRIER FREE RAMPS (TYP 1)	EA	2	\$750.00	\$1,500.00	\$865.00	\$1,730.00	\$654.00	\$1,308.00

PROJECT: LA PRADA DRIVE MCIP 20210B BID NO: 2013-063-6380 LIMITS: MILLMAR DRIVE TO MOTLEY DRIVE DATE: 9/26/2013

DESCR: 0.25 mi street reconst. & storm sewer (Dallas); 0.25 mi. storm sewer (Mesquite)

					n Group	Tiseo Paving		CD Builders, Inc.		
					vest Bid				3rd Lowest Bid	
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	
531-2010	BARRIER FREE RAMPS (TYP 7)	EA	4	\$800.00	\$3,200.00	\$865.00	\$3,460.00	\$654.00	\$2,616.00	
531-2018	BARRIER FREE RAMPS (SPECIAL)	EA	6	\$740.00		\$865.00	\$5,190.00	\$654.00	\$3,924.00	
531	BARRIER FREE RAMPS (CITY OF DALLAS)	EA	2	\$740.00	\$1,480.00	\$865.00	\$1,730.00	\$654.00	\$1,308.00	
536-2006	MONOLITHIC MEDIAN NOSE	EA	6	\$890.00	\$5,340.00	\$1,500.00	\$9,000.00	\$654.00	\$3,924.00	
536-2004	REINF CONCRETE TRAFFIC ISLAND	SY	30	\$76.00	\$2,280.00	\$58.00	\$1,740.00	\$49.05	\$1,471.50	
536-2002	CONCRETE MEDIAN (4")	SY	100	\$37.00	\$3,700.00	\$42.00	\$4,200.00	\$49.05	\$4,905.00	
550-2001	CHAIN LINK FENCE (INSTALL) (4'- 6')	LF	300	\$21.00	\$6,300.00	\$22.00	\$6,600.00	\$218.00	\$65,400.00	
550	WOOD FENCE (INSTALL) (6')	LF	100	\$11.00	\$1,100.00	\$22.00	\$2,200.00	\$218.00	\$21,800.00	
550-2010	CHAIN LINK GATE (4'- 6' HT)	EA	2	\$290.00		\$660.00	\$1,320.00	\$1,090.00	\$2,180.00	
618-2018	CONDUIT (2") (SCH 40)	LF	1,200	\$10.00	\$12,000.00	\$5.35	\$6,420.00	\$5.29	\$6,348.00	
624-2043	ELECTRICAL PULLBOX (ONCOR STD 213-120)	EA	2	\$770.00	\$1,540.00	\$610.00	\$1,220.00	\$599.50	\$1,199.00	
644-2085	RELOCATE ROADSIDE SIGN ASSEMBLIES	EA	16	\$290.00	\$4,640.00	\$525.00	\$8,400.00	\$381.50	\$6,104.00	
644	FURNISH & INSTALL ROADSIDE SIGN ASSEMBLIES	EA	4	\$560.00	\$2,240.00	\$525.00	\$2,100.00	\$381.50	\$1,526.00	
644-2077	REMOVE ROADSIDE SIGN ASSEMBLIES	EA	7	\$230.00	\$1,610.00	\$220.00	\$1,540.00	\$103.55	\$724.85	
662-2060	WZPM RAIS REFLECTIVE BUTTONS (TY I W-C) (REMOVABLE)	EA	241	\$3.00	\$723.00	\$3.25	\$783.25	\$5.45	\$1,313.45	
662	WZPM TWO WAY REFLECTIVE BUTTONS (TY II Y-Y) (NON-REMOVABLE)	EA	481	\$3.00	\$1,443.00	\$3.25	\$1,563.25	\$5.45	\$2,621.45	
662-2062	WZPM TWO WAY REFLECTIVE BUTTONS (TY II Y-Y) (REMOVABLE)	EA	481	\$3.00	\$1,443.00	\$3.25	\$1,563.25	\$5.45	\$2,621.45	
666-2003	REFLECTORIZED PAVEMENT MARKINGS (TYPE I)(4")(WHITE) (BROKEN)	LF	550	\$1.00	\$550.00	\$1.10	\$605.00	\$5.45	\$2,997.50	
666-2024	REFLECTORIZED PAVEMENT MARKINGS (TYPE I)(6")(WHITE) (SOLID)	LF	840	\$1.50	\$1,260.00	\$1.50	\$1,260.00	\$5.45	\$4,578.00	
666-2045	REFLECTORIZED PAVEMENT MARKINGS (TYPE I)(18")(WHITE)(SOLID)	LF	100	\$5.00	\$500.00	\$5.50	\$550.00	\$5.45	\$545.00	
672-2032	RAIS PAV MARK (CL B)(REFL) (TY I W-C)(4")	EA	161	\$3.00	\$483.00	\$3.25	\$523.25	\$5.45	\$877.45	
672-2033	RAIS PAV MARK (CL B)(REFL) (TY II W C-R)(4")	EA	54	\$3.00	\$162.00	\$3.25	\$175.50	\$5.45	\$294.30	
672-2015	RAIS PAV MARK (REFL) (TY I YELLOW) (6")	EA	64	\$3.00	\$192.00	\$3.25	\$208.00	\$5.45	\$348.80	
678-2001	PAVEMENT SURFACE PREPARATION FOR MARKINGS (4 INCHES)	LF	550	\$0.50	\$275.00	\$0.55	\$302.50	\$5.45	\$2,997.50	
678-2002	PAVEMENT SURFACE PREPARATION FOR MARKINGS (6 INCHES)	LF	840	\$0.10	\$84.00	\$0.11	\$92.40	\$5.45	\$4,578.00	
678-2005	PAVEMENT SURFACE PREPARATION FOR MARKINGS (18 INCHES)	LF	100	\$0.50	\$50.00	\$0.55	\$55.00	\$5.45	\$545.00	
LS-1	MULTI-TRUNK TREE (CREPE MYRTLE)	EA	7	\$306.04	\$2,142.28	\$280.00	\$1,960.00	\$1,090.00	\$7,630.00	
	SUBTOTAL PAVING (CITY OF DALLAS) (BASE BID)				\$1,159,725.68		\$1,378,534.90		\$1,522,942.19	
	DRAINAGE (CITY OF DALLAS) (BASE BID)									
401-2001	FLOWABLE BACKFILL	CY	50	\$110.00	\$5,500.00	\$156.00	\$7,800.00	\$97.61	\$4,880.50	
402-2001	TRENCH EXCAVATION PROTECTION	LF	1,652	\$1.00	\$1,652.00	\$1.55	\$2,560.60	\$5.45	\$9,003.40	
464-2003	RC PIPE (CLASS III) (18 IN)	LF	156	\$45.00	\$7,020.00	\$64.00	\$9,984.00	\$77.53	\$12,094.68	
464-2004	RC PIPE (CLASS III) (21 IN)	LF	456	\$50.00	\$22,800.00	\$67.50	\$30,780.00	\$101.46	\$46,265.76	
464-2008	RC PIPE (CLASS III) (33 IN)	LF	770	\$71.00	\$54,670.00	\$99.50	\$76,615.00	\$139.90	\$107,723.00	
464-2011	RC PIPE (CLASS III) (48 IN)	LF	270	\$110.00		\$158.50	\$42,795.00	\$287.73	\$77,687.10	
465-2610	MANHOLE COMPLETE (6' FT) DIAMETER	EA	1	\$3,300.00	\$3,300.00	\$4,700.00	\$4,700.00	\$7,507.83	\$7,507.83	
465	INLET (COMPL) (6')	EA	1	\$2,500.00		\$3,700.00	\$3,700.00	\$4,937.65	\$4,937.65	
465-2520	INLET (COMPL) (8')	EA	2	\$3,400.00		\$4,000.00		\$5,155.65	\$10,311.30	
465-2521	INLET (COMPL) (10')	EA	8	\$3,800.00		\$4,200.00		\$5,900.64	\$47,205.12	
465-2523	INLET (COMPL) (14')	EA	2	\$4,400.00	\$8,800.00	\$4,700.00		\$6,659.79	\$13,319.58	
496-2007	REMOVE OLD STRUCTURE (15"- 48" RCP)	LF	1,088	\$11.00	\$11,968.00	\$20.70	\$22,521.60	\$11.05	\$12,022.40	
496-2002	REMOVE OLD STRUCTURES (INLETS)	EA	8	\$560.00	\$4,480.00	\$830.00	\$6,640.00	\$705.80	\$5,646.40	
	SUBTOTAL DRAINAGE (CITY OF DALLAS) (BASE BID)				\$189,590.00		\$259,096.20		\$358,604.72	

PROJECT: LA PRADA DRIVE MCIP 20210B BID NO: 2013-063-6380 LIMITS: MILLMAR DRIVE TO MOTLEY DRIVE DATE: 9/26/2013

DESCR: 0.25 mi street reconst. & storm sewer (Dallas); 0.25 mi. storm sewer (Mesquite)

				The Fain Group 1st Lowest Bid		Tiseo Paving 2nd Lowest Bid		CD Builders, Inc. 3rd Lowest Bid	
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
	PAVING & DRAINAGE (CITY OF MESQUITE) (BASE BID)								
100-1	PREPARING ROW	STA	14.0	\$620.00	\$8,680.00	\$5,495.00	\$76,930.00	\$356.27	\$4,987.78
100-1	REMOVING CONCRETE (MEDIAN OPENINGS)	SY	1,000	\$6.00	\$6,000.00	\$5,495.00 \$5.50	\$5,500.00	\$7.36	\$7,360.00
104-1	SAW CUT (FULL DEPTH)	LF	1,609	\$2.00	\$3,218.00	\$3.00	\$4,827.00	\$1.83	\$2,944.4
160	FURNISH AND PLACE TOPSOIL (MEDIAN) (4")	SY	2,736	\$5.00	\$13,680.00	\$3.25	\$8,892.00	\$4.36	\$11,928.96
162	BLOCK SODDING	SY	2,736	\$3.00	\$8,208.00	\$3.65	\$9.986.40	\$2.78	\$7,606.0
247	FLEX BASE (TY D.)(GR.1)(MEDIAN OPENINGS)	CY	1,316	\$39.00	\$51,324.00	\$37.00	\$48,692.00	\$53.38	\$70,248.0
361	FULL-DEPTH REPAIR (MEDIAN OPENINGS) (DEPTH UNDETERMINED)	SY	1,000	\$60.00		\$52.00	\$52,000.00	\$54.50	\$54,500.0
402	TRENCH EXCAVATION PROTECTION	LF	1,463	\$1.00		\$1.55		\$5.45	\$7,973.3
416	STREET LIGHT FOUNDATION (24") (ONCOR STD 213-320)	LF	35	\$100.00		\$210.00		\$207.10	\$7,248.5
462	CONC. BOX CULVERT (8'X4')	LF	1,303	\$340.00	\$443,020.00	\$405.00	\$527,715.00	\$487.43	\$635,121.2
464-1	RC PIPE (CLASS III) (18 IN)	LF	28	\$41.00	\$1,148.00	\$68.00	\$1,904.00	\$124.96	\$3,498.8
464-2	RC PIPE (CLASS III) (21 IN)	LF	30	\$45.00	\$1,350.00	\$73.00	\$2,190.00	\$136.87	\$4,106.1
464-3	RC PIPE (CLASS III) (48 IN)	LF	28	\$120.00	\$3,360.00	\$166.00	\$4,648.00	\$1,312.67	\$36,754.7
464-4	RC PIPE (CLASS III) (66 IN)	LF	74	\$200.00	\$14,800.00	\$315.00	\$23,310.00	\$399.42	\$29,557.0
464-5	RC PIPE (CLASS III) (72 IN)	LF	44	\$225.00	\$9,900.00	\$360.00	\$15,840.00	\$477.05	\$20,990.2
465	10-FT PRE-CAST JUNCTION BOX	EA	1	\$20,000.00	\$20,000.00	\$15,600.00	\$15,600.00	\$3,214.41	\$3,214.4
496-1	REMOVE OLD STRUCTURE (18" RCP)	LF	38	\$11.00	\$418.00	\$19.00	\$722.00	\$9.20	\$349.6
496-2	REMOVE OLD STRUCTURE (33" RCP)	LF	90	\$11.00	\$990.00	\$26.00	\$2,340.00	\$7.10	\$639.0
506-1	CURB INLET PROTECTION (INSTALL & MAINT)	EA	5	\$70.00	\$350.00	\$83.00	\$415.00	\$65.40	\$327.00
506-2	CURB INLET PROTECTION (REMOVE)	EA	5	\$7.00	\$35.00	\$11.00	\$55.00	\$6.54	\$32.7
506-3	ROCK FILTER DAM (TY 3) (INSTALL)	LF	50	\$28.00	\$1,400.00	\$33.00	\$1,650.00	\$26.16	\$1,308.0
506-4	ROCK FILTER DAM (TY 3)(REMOVE)	LF	50	\$8.00	\$400.00	\$8.00	\$400.00	\$7.63	\$381.5
618	CONDUIT (2") (SCH 40)	LF	1,201	\$10.00	\$12,010.00	\$5.35	\$6,425.35	\$5.29	\$6,353.2
644-1	RELOCATE ROADSIDE SIGN ASSEMBLIES	EA	3	\$306.04	\$918.12	\$525.00	\$1,575.00	\$381.50	\$1,144.5
	SUBTOTAL PAVING & DRAINAGE (CITY OF MESQUITE) (BASE BID)				\$666,172.12		\$821,234.40		\$918,575.5
	DWU WASTEWATER MAIN (BASE BID)								
3110J	8" PVC PRESSURE RATED WASTEWATER PIPE WITH PAVING	LF	740	\$38.00	\$28,120.00	\$89.10	\$65,934.00	\$51.85	\$38,369.0
3570 KxL	PIPE BURSTING (10" TO 12")	LF	230	\$118.00		\$218.00	\$50,140.00	\$61.85	\$14,225.5
6060	WASTEWATER LATERAL	EA	13	\$1,000.00	\$13,000.00	\$4,500.00	\$58,500.00	\$668.90	\$8,695.7
6100	WASTEWATER ACCESS DEVICE WITH PAVING	EA	2	\$3,800.00	\$7,600.00	\$2,600.00	\$5,200.00	\$3,442.11	\$6,884.2
6130AEP	48" WASTEWATER MANHOLE WITH PAVING	EA	5	\$4,500.00	\$22,500.00	\$5,500.00	\$27,500.00	\$3,659.18	\$18,295.9
6141	VACUUM TEST FOR WASTEWATER MANHOLE	EA	5	\$178.00		\$228.00	\$1,140.00	\$109.00	\$545.0
6921	TELEVISION INSPECTION (JOINT CONTRACTS)	LF	1,940	\$1.00		\$2.10	\$4,074.00	\$0.93	\$1,804.2
6925	TRENCH SAFETY & SUPPORT	LF	740	\$1.00		\$1.55	\$1,147.00	\$3.53	\$2,612.2
7030	ROCK FOUNDATION	CY	5	\$43.00	\$215.00	\$55.00	\$275.00	\$86.39	\$431.9
7041	FLOWABLE BACKFILL	CY	10	\$100.00	\$1,000.00	\$160.00	\$1,600.00	\$116.71	\$1,167.1
7050	SAND BACKFILL	CY	150	\$20.00		\$30.00	\$4,500.00	\$78.28	\$11,742.0
7801	6" REINFORCED CONCRETE PAVEMENT OR BASE	SF	3,000	\$4.50	\$13,500.00	\$6.00	\$18,000.00	\$5.45	\$16,350.0
20500	INVESTIGATION	EA	3	\$890.00	\$2,670.00	\$985.00	\$2,955.00	\$1,038.28	\$3,114.8
20340	ADJUST WASTEWATER LATERAL CLEANOUT	EA	11	\$290.00	\$3,190.00	\$520.00	\$5,720.00	\$580.97	\$6,390.6
20351	ADJUST WASTEWATER ACCESS DEVICE	EA	2	\$2,080.00		\$625.00	\$1,250.00	\$452.15	\$904.30

PROJECT: LA PRADA DRIVE MCIP 20210B BID NO: 2013-063-6380 LIMITS: MILLMAR DRIVE TO MOTLEY DRIVE DATE: 9/26/2013

DESCR: 0.25 mi street reconst. & storm sewer (Dallas); 0.25 mi. storm sewer (Mesquite)

				The Fain Group 1st Lowest Bid		Tiseo Paving 2nd Lowest Bid		CD Builders, Inc. 3rd Lowest Bid	
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
20360	ADJUST WASTEWATER MANHOLE	EA	4	\$590.00		\$830.00		\$2,725.00	\$10,900.00
7520	TEMPORARY PAVING (HOT MIX OR HIGH PERFORMANCE MIX)	TN	80	\$145.00		\$160.00		\$160.39	\$12,831.20
7560	CRUSHED ROCK FOR TEMPORARY PAVING BASE	CY	120	\$43.00	*-,	\$61.00		\$54.50	\$6,540.00
	SUBTOTAL DWU WASTEWATER (BASE BID)				\$148,785.00		\$271,375.00		\$161,803.78
	DWU WATER MAIN (BASE BID)								
1800	6" PVC WATER PIPE WITH PAVING	LF	40	\$42.00	\$1,680.00	\$90.00	\$3,600.00	\$40.70	\$1,628.0
1800	8" PVC WATER PIPE WITH PAVING	LF	1,450	\$38.00	\$55,100.00	\$96.30	\$139,635.00	\$47.71	\$69,179.5
5020	CAST IRON FITTINGS	TN	1	\$10,000.00		\$8,300.00	\$8,300.00	\$4,905.00	\$4,905.0
5050	WATER SERVICE	EA	15	\$2,000.00		\$2,700.00	\$40,500.00	\$1,057.35	\$15,860.2
5091	INSTALL FIRE HYDRANT	EA	2	\$3,500.00	\$7,000.00	\$3,200.00		\$2,607.06	\$5,214.1
5092	REMOVE FIRE HYDRANT	EA	1	\$890.00	\$890.00	\$625.00	\$625.00	\$377.92	\$377.9
5093	DELIVER FIRE HYDRANT	EA	1	\$237.00	\$237.00	\$160.00	\$160.00	\$156.96	\$156.9
5100H	6" GATE VALVE	EA	2	\$1,400.00	\$2,800.00	\$1,100.00	\$2,200.00	\$1,268.15	\$2,536.30
5100J	8" GATE VALVE	EA	10	\$1,700.00	\$17,000.00	\$1,450.00	\$14,500.00	\$1,573.35	\$15,733.5
5610	CUT AND PLUG EXISTING MAIN FOR TEST	EA	1	\$530.00	\$530.00	\$1,300.00	\$1,300.00	\$684.91	\$684.9
5755B	AUTOMATED 1" FLUSH POINT	EA	1	\$4,750.00	\$4,750.00	\$5,100.00	\$5,100.00	\$5,595.62	\$5,595.6
6902	PLACEMENT OF BLOCK SODDING	SY	20	\$8.00		\$3.65	\$73.00	\$3.27	\$65.4
6925	TRENCH SAFETY & SUPPORT	LF	1,490	\$1.00	\$1,490.00	\$1.55	\$2,309.50	\$2.64	\$3,933.6
7030	ROCK FOUNDATION	CY	5	\$43.00		\$61.00	\$305.00	\$120.29	\$601.4
7050	SAND BACKFILL	CY	300	\$20.00	\$6,000.00	\$30.10	\$9,030.00	\$59.84	\$17,952.0
7071 7730	CLASS B CONCRETE DISPOSAL OF HEAVY CHLORINATED WATER MAIN FLUSHING WATER	LS	30	\$111.00	\$3,330.00 \$1,400.00	\$228.00	\$6,840.00 \$3,150.00	\$109.00	\$3,270.0 \$1,090.0
7801	6" REINFORCED CONCRETE PAVEMENT OR BASE	SF	2,000	\$1,400.00 \$4.00	\$8,000.00	\$3,150.00 \$6.00	\$12,000.00	\$1,090.00 \$5.45	\$10,900.0
20500	INVESTIGATION	EA	3	\$890.00	\$2,670.00	\$830.00	\$12,000.00	\$1,593.31	\$4,779.9
20300	ADJUST AND/OR RELOCATE WATER METER BOX	EA	14	\$118.00	\$1,652.00	\$675.00	\$9,450.00	\$191.20	\$2,676.8
20330	ADJUST WATER VALVE COVERS AND STACKS	EA	12	\$118.00		\$365.00	\$4,380.00	\$191.20	\$2,294.4
20430	INSTALL FIRE HYDRANT EXTENSION	EA	2	\$1,039.00	\$2,078.00	\$900.00		\$763.89	\$1,527.7
20440	REMOVE FIRE HYDRANT EXTENSION	EA	2	\$415.00	\$830.00	\$625.00	\$1,250.00	\$191.20	\$382.40
20410	SUBTOTAL DWU WATER MAIN (BASE BID)	E/X	-	ψ110.00	\$159,228.00	Ψ020.00	\$275,397.50	ψ101.20	\$171,345.8
	MESQUITE UTILITY ADJUSTMENTS (BASE BID)								
U.1	CONSTRUCT 4' DIAMETER SANITARY SEWER MANHOLE	EA	2	\$3.800.00	\$7.600.00	\$8,800.00	\$17.600.00	\$4,810.72	\$9.621.4
U.2	6" SDR 26 PVC SANITARY SEWER	LF	10	\$99.00	* ,	\$110.00	\$1,100.00	\$101.05	\$1,010.5
U.3	8" SDR 26 PVC SANITARY SEWER	LF	10	\$102.00		\$96.00	\$960.00	\$101.05	\$1,010.5
U.4	14" D.I. SPLIT CASING FOR 8" SANITARY SEWER THROUGH CULVERT	LF	10	\$670.00	\$6,700.00	\$675.00		\$70.94	\$709.4
U.5	6" PVC AWWA C-900 DR-14 (INCLUDES DI FITTINGS)	LF	40	\$66.00	\$2,640.00	\$105.00	\$4,200.00	\$70.40	\$2,816.0
U.6	WATERLINE SERVICE CONNECTIONS	EA	12	\$1,700.00		\$1,300.00		\$1,268.15	\$15,217.8
U.7	EXTRA D.I. FITTINGS	TON	2	\$6,177.00	\$12,354.00	\$8,300.00	\$16,600.00	\$4,959.50	\$9,919.0
-	SUBTOTAL MESQUITE UTILITY ADJUSTMENTS (BASE BID)				\$51,704.00	* - /	\$62,810.00	* /	\$40,304.6
	ALTERNATE NO. 1 - UNSPECIFIED SOURCE								
360	CONCRETE PAVEMENT (STREET HEADER)	LF	290	\$11.50	\$3,335.00	\$10.00	\$2,900.00	\$12.36	\$3,584.4
360-2022	CONCRETE PAVEMENT (9")	SY	9,185	\$42.00		\$44.95		\$40.90	\$375,666.50

PROJECT: LA PRADA DRIVE MCIP 20210B BID NO: 2013-063-6380 LIMITS: MILLMAR DRIVE TO MOTLEY DRIVE DATE: 9/26/2013

DESCR: 0.25 mi street reconst. & storm sewer (Dallas); 0.25 mi. storm sewer (Mesquite)

				The Fain Group 1st Lowest Bid		Tiseo Paving 2nd Lowest Bid		CD Builders, Inc. 3rd Lowest Bid	
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
423	SIDEWALK CURB (CITY OF DALLAS ITEM 320)	LF	550	\$4.60	\$2,530.00	\$16.50	* - ,	\$3.73	\$2,051.50
465-2610	MANHOLE COMPLETE (6' FT) DIAMETER	EA	1	\$3,100.00	·	\$4,700.00		\$7,507.83	\$7,507.83
465	INLET (COMPL) (6')	EA	1	\$2,300.00	\$2,300.00	\$3,700.00		\$4,937.65	\$4,937.65
465-2520	INLET (COMPL) (8')	EA	2	\$3,250.00	\$6,500.00	\$4,000.00		\$5,155.65	\$10,311.30
465-2521	INLET (COMPL) (10')	EA	8	\$3,500.00	\$28,000.00	\$4,200.00	\$33,600.00	\$5,900.64	\$47,205.12
465-2523	INLET (COMPL) (14')	EA	2	\$4,200.00	\$8,400.00	\$4,700.00	\$9,400.00	\$6,659.79	\$13,319.58
529-2023	MONOLITHIC CURB (6")	LF SY	4,525	\$4.65	\$21,041.25	\$5.00	\$22,625.00	\$2.37	\$10,724.25
530-2010	DRIVEWAY (CONC)(6")		325	\$44.00	\$14,300.00	\$46.00	\$14,950.00	\$40.92	\$13,299.00
530 531-2015	ALLEY (CONCRETE) (6") CONC. SIDEWALK (4") (4' WIDE) (REINF)	SY SY	170 920	\$42.00 \$27.00	\$7,140.00 \$24,840.00	\$46.00 \$38.00	\$7,820.00 \$34.960.00	\$49.52 \$35.81	\$8,418.40 \$32,945.20
536-2006	MONOLITHIC MEDIAN NOSE	EA	6	\$27.00 \$840.00	\$24,840.00	\$38.00	\$34,960.00	\$654.00	\$32,945.20
536-2006	REINF CONCRETE TRAFFIC ISLAND	SY	30	\$71.00	\$2,130.00	\$1,500.00	\$9,000.00	\$49.05	\$3,924.00
536-2004	CONCRETE MEDIAN (4")	SY	100	\$29.00	\$2,130.00	\$42.00	\$4,200.00	\$49.05 \$49.05	\$4,905.00
361	FULL-DEPTH REPAIR (MEDIAN OPENINGS) (DEPTH UNDETERMINED)	SY	1,000	\$56.00	\$56,000.00	\$52.00	\$52,000.00	\$66.22	\$66,220.00
301	TOTAL ALTERNATE NO. 1 - UNSPECIFIED SOURCE	31	1,000	ψ30.00	\$573,326.25	ψ32.00	\$631,535.75	ψ00.22	\$606,491.23
	TOTAL ALTERNATE NO. 1 ONOI ESITED GOORGE				ψ010,020.20		4001,000.10		4000,40112 0
	ALTERNATE NO. 2 - (NOx > 1.7 LBS/TON)								
360	CONCRETE PAVEMENT (STREET HEADER)	LF	290	\$11.50	\$3,335.00	\$10.00	\$2,900.00	\$12.36	\$3,584.40
360-2022	CONCRETE PAVEMENT (9")	SY	9,185	\$42.00	\$385,770.00	\$44.95		\$40.90	\$375,666.50
423	SIDEWALK CURB (CITY OF DALLAS ITEM 320)	LF	550	\$4.60	\$2,530.00	\$16.50	\$9,075.00	\$3.73	\$2,051.50
465-2610	MANHOLE COMPLETE (6' FT) DIAMETER	EA	1	\$3,100.00	\$3,100.00	\$4,700.00	\$4,700.00	\$7,507.83	\$7,507.83
465	INLET (COMPL) (6')	EA	1	\$2,300.00	\$2,300.00	\$3,700.00	\$3,700.00	\$4,937.65	\$4,937.65
465-2520	INLET (COMPL) (8')	EA	2	\$3,250.00	\$6,500.00	\$4,000.00	\$8,000.00	\$5,155.65	\$10,311.30
465-2521	INLET (COMPL) (10')	EA	8	\$3,500.00	\$28,000.00	\$4,200.00	\$33,600.00	\$5,900.64	\$47,205.12
465-2523	INLET (COMPL) (14')	EA	2	\$4,200.00	\$8,400.00	\$4,700.00	\$9,400.00	\$6,659.79	\$13,319.58
529-2023	MONOLITHIC CURB (6")	LF	4,525	\$4.65		\$5.00	\$22,625.00	\$2.37	\$10,724.25
530-2010	DRIVEWAY (CONC)(6")	SY	325	\$44.00	\$14,300.00	\$46.00	\$14,950.00	\$40.92	\$13,299.00
530	ALLEY (CONCRETE) (6")	SY	170	\$42.00	\$7,140.00	\$46.00	\$7,820.00	\$49.52	\$8,418.40
531-2015	CONC. SIDEWALK (4") (4' WIDE) (REINF)	SY	920	\$27.00	\$24,840.00	\$38.00	\$34,960.00	\$35.81	\$32,945.20
536-2006	MONOLITHIC MEDIAN NOSE	EA	6	\$840.00	\$5,040.00	\$1,500.00	\$9,000.00	\$654.00	\$3,924.00
536-2004	REINF CONCRETE TRAFFIC ISLAND	SY	30	\$71.00	\$2,130.00	\$58.00	\$1,740.00	\$49.05	\$1,471.50
536-2002	CONCRETE MEDIAN (4")	SY	100	\$29.00	\$2,900.00	\$42.00	\$4,200.00	\$49.05	\$4,905.00
361	FULL-DEPTH REPAIR (MEDIAN OPENINGS) (DEPTH UNDETERMINED)	SY	1,000	\$56.00	\$56,000.00	\$52.00	\$52,000.00	\$66.22	\$66,220.00
	TOTAL ALTERNATE NO. 2 - NOx > 1.7 LBS/TON	1			\$573,326.25		\$631,535.75		\$606,491.23
599	PARTNERING WORKSHOP	LS	1	\$5,900.00	\$5,900.00	\$1,000.00	\$1,000.00	\$2,725.00	\$2,725.00
				***	40,000.00	**,******	V .,000.00	4=,:=0:00	4 -,
	SUBTOTAL: (PAVING + DRAINAGE) (DRY KILN) (BASE BID)		1		\$2,015,487.80		\$2,458,865.50		\$2,800,122.44
	SUBTOTAL: (DWU UTILITIES) (WATER & SEWER) (BASE BID)				\$308,013.00		\$546,772.50		\$333,149.62
	SUBTOTAL: (MESQUITE UTILITY ADJUSTMENTS) (BASE BID)	1			\$51,704.00		\$62,810.00		\$40,304.64
	TOTAL BASE BID: PAVING + DRAINAGE + UTILITIES (DWU & MESQUITE)				\$2,375,204.80		\$3,068,448.00		\$3,173,576.70
	ITEM 599 PARTNERING WORKSHOP				\$5,900.00		\$1,000.00		\$2,725.00
	TOTAL BASE BID + PARTNERING WORKSHOP				\$2,381,104.80		\$3,069,448.00		\$3,176,301.70

PROJECT: LA PRADA DRIVE MCIP 20210B BID NO: 2013-063-6380 LIMITS: MILLMAR DRIVE TO MOTLEY DRIVE DATE: 9/26/2013

DESCR: 0.25 mi street reconst. & storm sewer (Dallas); 0.25 mi. storm sewer (Mesquite)

					The Fain Group Tiseo F 1st Lowest Bid 2nd Low			CD Build	lers, Inc. vest Bid
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
	CONCRETE ITEMS (PER CEMENT USE SPECIAL PROVISION)								
	A: BASE BID CONCRETE ITEMS ONLY (DRY KILN)				\$587,040.00		\$631,535.75		\$594,771.23
	B: ALTERNATE BID NO. 1 (UNSPECIFIED SOURCE)				\$573,326.25		\$631,535.75		\$606,491.23
	C: ALTERNATE BID NO. 2 (NOx >1.7 LBS/TON)				\$573,326.25		\$631,535.75		\$606,491.23
	TOTAL BASE BID - A + B + PARTNERING WORKSHOP				\$2,367,391.05		\$3,069,448.00		\$3,188,021.70
	TOTAL BASE BID - A + C + PARTNERING WORKSHOP				\$2,367,391.05		\$3,069,448.00		\$3,188,021.70